COLLEGE ALGEBRA QUIZ

(1) True or False? A set which has n elements, will have 2" subsets.
Solution: True

(2) How many subsets does the set {A, B,C, D, E, F,G, H} have?
Solution: 2% or 256

(3) What is the binomial expansion of (w + z)7
Solution: (a)
(a) w” + Twlz + 21wdx? + 35wrz? + 35wz 4 21w?2® + Twab 4 27
(b) w” + 8wlx + 28wdz? + 70wz 4 56w3z* + Sw?a® + 27
(c) w” + 6wdx + 15wrz? + 20w3z3 + 15w?2* + 6wa® + 27
(d) w” + 28wbz? 4 56wdz® + 70wz + 56w3x® + 28w?ab + 7

(4) What is the binomial expansion of (y — /3)°
Solutlon (a)
(a) y — 5v/3y* + 30y3 — 3032 + 45y — 9v/3
(b) y — 53yt + 20y — 203y + 20y — 43
(c) 3° — 6+/3y* + 1553 — 20v/3y% + 15y — 6v/3
(d) ¥° — 5v/3y* + 10y® — 10v3y? + 5y — V3

(5) What is the binomial expansion of (m? — 3n)*
Solution: (a)

(a) m® — 12mOn + 54min? — 108m?n3 + 81n?
(b) m — 5mSn + 10m4n2 — 10m?n? + 5nt

(c) m® — 15mSn + 30m*n? — 30m2n3 + 15n*
(d) m® — 15mbn + 90m4n2 — 135m2n3 + 81n

(6) What is the binomial expansion of (z + 2)°.

Solution: (a)
a) x + 927 + 362° + 8423 + 1262 + 126271 + 84273 + 3627 + 92" 4+ 27
b) x + 827 + 282° 4 5623 4 Tdx + 562! + 28273 + 8x 7% + 2~
c) x
d

) 0

(7) What is the binomial expansion of (1 + 2i)%, where i? = —1.
Solution: 117 + 444
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(8) What is the 6th term of (y + 2)!2
Solution: (a)
(a) 792y"2°

(9) What is the 20th term of (2z — y)?°.
olution: (a)

(a) — ( )64x6y19

(b) —(25)18566 20

(c) (57)22!

(d) —(25)64:r6 18
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